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Subject:Physics(Objective)

! Sound is form of -------------- energy?
(@) Chemical (b)  Thermal
(¢)  Electrical (d) Mechanical
2 Which is example of longitudinal waves?
(@) Sound waves (b) Light waves
(¢c) Radiowaves (d) Water waves
3 The intensity/sound level of resulting of leaves:
(a) 10dB (b) 10 dB
(c) 40dB (d) 120 dB
4 One bel is equal to:
(a) 40dB (b) 20dB
(c) 90dB (d 10dB

> The pitch of sound mostly depends on:

(a)  Frequency (b)  Period
(c)  Wavelength (d) Amplitude
® Formula for finding the speed of sound is:
(@) v=/2A (®) f=wr
_/
© V=7 @ /=4

’ The speed of sound in air:

(@  1246kmh™  (b) 1264 kmh!

(c)  1262kmh?  (d) 2162 kmh!

8 If speed of sound is 320ms-1, the distance
covered in a time of 1.5s will be;
(a) 408m  (b)

(c) 480m  (d)

480cm
221m
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